RESOLUTION OF THE PAPAGO TRIBAL COUNCIL

(San Xavier Co-op loan)

RES. NO. 17-86

		KES. NO. 17-80
1		On the 2nd day of June, 1981, the Tribal Council enacted Ordinance
2	}	No. 02-81 wherein it approved the Restated Charter of the San Xavier
3		Cooperative Association, Inc., a nonprofit cooperative Tribal associ-
4		ation whose membership consists of allottees; and
5	WHEREAS	The cooperative association has been farming the allottee memberships
6 7		·
8		land in an effort to improve the social conditions and economic
9]	welfare of its members and to create employment for the Papago people;
9 10		and
11	WHEREAS,	Under the terms of the Southern Arizona Water Project Settlement Act
12		of 1982, P.L. 97-293, the Secretary of the Interior, acting through
13		the Bureau of Reclamation, is in the process of improving and ex-
14		tending the Cooperative Association irrigation system, including the
15		replacement or relocation of existing wells and the drilling of new
16		wells; and
17	WHEREAS,	The Cooperative Association farming activities have been curtailed
18		due to the lack of ground water and in 1985 the Cooperative Associ-
19 22		ation planted cotton using funds acquired from a Producers Cotton Oil
$\frac{20}{21}$		Company crop loan, and expecting to receive additional water from a
$egin{array}{c c} 21 & \\ 22 & \\ \end{array}$		new well that was in the process of being drilled with funds author-
23		ized and appropriated under the Settlement Act; and
24	WHEREAS,	The new well did not produce the anticipated quantity of water neces-
25		sary to irrigate this cotton crop, and subsequently a good portion of
26		cotton was lost; and
27	WHEREAS,	It is necessary under the law to plow under all cotton stocks and
28		maintain weed and insect control, and the Association is without funds
29		to comply with this law; and
30	WHEREAS,	The Cooperative Association owes Producers Cotton Oil Company the sum
}1 32	:	of approximately \$100,000.00 for its 1985 crop loan which the Coopera-
17.11		The state of the s

tive Association was unable to repay; and

RES. NO. 17-86 (San Xavier Co-op loan) Page Two (2) 1 WHEREAS, The Cooperative Association will need the sum of \$80,100.00 to 2 continue its farming operation for the 1986 crop year; a budget is 3 attached hereto and made a part thereof; and 4 5 WHEREAS, The Cooperative Association is prepared to repay the \$80,100.00 from 6 its 1986 crop production sale income and the \$100,000.00 used to repay 7 Producers Cotton in five equal installments comencing January 1, 1990; 8 and 9 WHEREAS, The San Xavier Cooperative Association is prepared to execute the 10 necessary documents that would obligate the Association to repay this 11 loan from future profits of this farming entity. 12 13 NOW, THEREFORE, BE IT RESOVLED that the Treasurer make a loan to the San Xavier 14 Cooperative Association in the amount of \$180,100,00 provided that the 15 Association execute the proper documents that would obligate the 16 Association to repay to the Tribe \$80,100.00 from its 1986 crop 17 production sale income and \$100,000.00 in five equal installments 18 commencing January 1, 1990. 19 The foregoing Resolution was duly enacted by the Papago Council on the 10th 20 day of January, 1986, at a meeting at which a quorum was present with a vote of $\underline{1581.5}$ for; $\underline{58.5}$ against; $\underline{-0}$ not voting; and $\underline{01}$ absent, pursuant to the 21 authority vested in the Papago Council by Section 2(h) and 3(a) of Article V 22 of the Constitution and By-laws of the Papago Tribe of Arizona as amended, ratified by the Papago Tribe on December 12, 1936, and approved by the Secre-23 tary of the Interior on January 6, 1937, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). Said Resolution is effective as of the date of 24 its approval by the Superintendent of the Papago Agency and is subject to

THE PAPAGO COUNCIL

Josiah Moore, Chairman

ATTEST:

31 32

25

26

27

28

29

30

Ophelia F. Campillo, Secretary

review by the Secretary of the Interior.

RES. NO. <u>17-86</u> (San Xavier Co-op loan) Page Three (3)

1 2

RESOLUTION APPROVED this 15th

day of January

, 19 86

•

5

James A. Barber, Superintendent

Papago Agency

MOVED:	Virgil Lewis	SUBJECT:	San Xa	vier (Co-o	p loan		
SECOND:	Kenneth Chico							

ATE: 01/10/86 RESOLUTION OR ORDINANCE # 17-86

DATE: 01/	10/86	-	RESOI	UTION OR	ORDINANCI	E # 17-86
DISTRICTS	REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. Elliott Lewis	69.0	X			
138	(Eugene F. Jose) 2. Nicklos Jose (Letitia Garcia)	69.0	X			
SELLS	1. Andrew M. Patricio (Nora Alvarez)	128.5	х		i	
257	2. Fred Stevens (Dennis E. Jose)	128.5	Х			
SCHUK TOAK	l. Joseph Juan	52.5	X			
105	2. Julie Carrillo (Jo Ann Francisco)	52.5	X			
SAN XAVIER	1. Kahaxakax (Austin Nunez)	63.0	X			
126	2. Tony Felix (Carmelita Mattias)	63.0	¹ X			
BABOQUIVARI	1. JOHNNY XVANIXIA	120.5	X			
241	(Edward N.Kisto) 2. Kenneth Chico, Sr. (Frances Miguel)	120.5	X			
GU ACHI	1. Angelo J. Joaquin, Sr	79.0	X			
158 .	(Jonas R. Robles) 2. Fernando Joaquin (Fred Adams,Jr.)	79.0	X			
PISINEMO	1. Chester Antone	58.0	X			
116	(Sylvester Manuel) 2. Johnson Jose (Edward D. Manuel)	58.0	X			
SAN LUCY	1. John Reno	42.5	X			
85	2. Max P. Jose . (Dewey I. Ortega)	42.5	X			C
gu vo	1. Cross Antone	58.5	х			
117	(Fern E. Salcido) 2. Virgil Lewis (Roy Montana)	58.5		X		:
HICKIWAN	1. Henry A. Ramon	64.0	Χ.			
128	(Pablo Baptisto) 128 2. Nikowik Kirwik i Kirki (Eleanor Santos)		X			X
сникит кик	1. Rosemary Lopez	84.5	X			
169	(Anita C. Clark) 2. Harriet Toro (Marvin J.Thomas)	84.5	X			
TOTALS		.1640.0	1581.5	58.5	-0-	01